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Dee has 20 marbles and some bags.
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She puts 2 marbles in each bag.
(a) How many bags does she use?

Sarah dlso has 20 marbles and some bags.
Sarah puts 5 marbles in each bag.

(b) How many fewer bags does Sarah
use?
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Pairs of Socks

How many socks are in a pair? Use this fack ko help you
solwe the sack problems bhelow!

S pai of ocke =T zochs atogehar

& pair of socks = (] zocks ltogether

151 have 11 socks, how many pairs of socks would T have? Would T have any left over?

S par of zocks = [T ao0ks aligether

10 pars of socks = [ socks akogether

17T have 19 zocks, how many pairz of zocks would T have?

& pa of ke = Toochs aiogeiar

7 pair of socks = (] zocks ltogether

171 have 13 zocks, how many pairz of zocks would T have?
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